4 i
{0 HE /N B0 2% R 9%k B AR Y

BB 32— /T RN BB 52— /T RN

BN wmg}

hm0.32+0.17. %k 0.61 — 0.42.
XIXPXIXX
X[XIXIX
XIXIX[X
X[XIXIX
XIXIXIX
25
xQXx
XIXX[X

XIXIXXIX

B 32 M TR LB E KR 032, BB 1: 61 MRTRERERKAE 061,

s : A ol 1 A A A42.
B 2 IS AT 17/ Tk S|, 2: {4201 Rl BEoR AR 0.42

0.17.
BB 3 B LR EBE IR BRI A% T

BB 3 MAWHBE I T. AT 5 R 0.19

B EFI? B FAN: 049,
’ FrLk, 0.61 —0.42 =0.19.

Frlk, 0.32 +0.17 = 0.49.

INER . ArR T EEH 22— BIRE TR AE

1. 0.22+0.35= 2. 0.52-041-=

XX

XXX XXX X XXX
XXX XXX X
XXX XX XXX X

XIXIX XXX XXX

@ Copyright @ Pearson Education, Inc, or its affiliates. All Rights Reserved. 5



